Electric Drives Linear Motion and Rexroth
and Controls Hydraulics Assembly Technologies Pneumatics Service
Bosch Group

FmBR - fhizERAH

Easy-2-Combine




2 Bosch Rexroth AG | Pneumatics

FmBER - WiEERAY
Easy-2-Combine

Easy-2-Combine, %A
» ATHEEE : RTC-HD/RTC-CG

Easy-2-Combine, EiE& A
» FTFHEEIEE : RTC-CG/RCM/RTC-CG/SGN/RTC-CG/GSP/RTC-CG /LS04

%ll’
Nﬁ
Easy-2-Combine, %3 4A 4
1’ » B FAZi&%E - RCM-.-AP/GSP » SHSES L

Easy-2-Combine, &3 4H 4
» ATHEEE : MSC/GSP

-
Easy-2-Combine, %3 4A 4
» AFHAEIEHE : ZSC/GSP
- T
Easy-2-Combine, EE% 34 4
» A FHEI&%E : GPC-E/GSP
.

Easy-2-Combine, %3 4H 14
» FHFEEIEE : MSC/RCM

Easy-2-Combine, &3k 4H 4
> AAFHEEE : MSC/MSC

Easy-2-Combine, EE% 3k 4H 4
> AF4HEIEE : MSC/ZSC

A Easy-2-Combine, %A

|| » AFHEIEE : MSC/GPC-E

=

4 Easy-2-Combine, E#EZ A

i » AFHAIEE : GPC-E/GPC-E

e Easy-2-Combine, & A
. = > AFASEE : GPC-ST/MSC

— Easy-2-Combine, E#% A 4

e » A FHEIE%E : GPC-ST/GPC-E

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 3
@A - WEERAst
Easy-2-Combine
& Easy-2-Combine, %A K
ﬁﬂ—f" » HFHEEE%E : GSU /MSC ®
Easy-2-Combine, %A
2 > A FAZEE : GSU) ZSC 4
5 Easy-2-Combine, %A 46
e » FIFEA%%E . GSU/GPC-E
< 5 Easy-2-Combine, R 4EA # 48
o » fiF4HEi®E : RMC-HE / GPC-E
Easy-2-Combine, &3 A 50
» B F4E&18%& : RMC-HE / MSC
Easy-2-Combine, %A 51
» B F4H&1R%E : RTC-CG/MSC
Easy-2-Combine, % EA Y 52
» A F4HAERE : RTC-CG/ZSC
Easy-2-Combine, 2% 4 54
» A FH&IR%& : RTC-HD/MSC
Easy-2-Combine, ZE#E% A 4 56
» Bl F4EA1&% : RTC-HD/GPC-E
Easy-2-Combine, &%t 4 58
» A FE&®E 1 CKP/CKP
Easy-2-Combine, &% 4 60
» A FLE&RE : CKP/CKP
Easy-2-Combine, EiZEZ A 4 62
» ATHEIEE : CKP/RCM
Easy-2-Combine, 2% H 64
» AFHEEE : CKP/GSP
B Easy-2-Combine, ZE#L3EH K 66
=R » FFHA&#%E : CKK/CKR/CKP/MSC
P
XFHER 68
(=)
e "~
L=
o®

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



4 Bosch Rexroth AG | Pneumatics

FRER - REEEAH

Easy-2-Combine, FEER A G
» AFH&#%E : RTC-HD/RTC-CG

EHER $EMF
BRAMEZE
m %/ fm&2 EasyHandling ZF&EIFEBH.
Easy-2-Combine- i} Easy-2-Combine-R#{f B8 =i
[kal
RTC-HD 25, RTC-HD 32, RTC-HD
40, RTC-HD 50, RTC.HD 63 RTC-CG 25, RTC-CG 32 1,2 R402003944

HESEE - B EEREM Y

HAEFIRARNMRS S NMEE R PO CFRERFER, FEESEREYE

SE=m-B%, fEL&PDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEEMALF|




Bosch Rexroth AG | Pneumatics 5
FmBER - BiEEEEY

Easy-2-Combine, LA H
» FF4HA%E : RTC-HD/RTC-CG

I I

Mg

e o o©
N
I y —
o
P °o& ¢
E @ @ | f(e) ® = =
© O 0,9 o
@@ O © ©© ™ < [“: R:J)
q @ [©) @ | ® o
q S S @ — =
¢ 180 o

28 E

2R ATEESEEAT, BERETUTIHNRKEE :
X (RTC-HD):

BAMIE : 4300 K

BEEE : 0.7K/% (AHREEANZ-HNEMIBEEARE)

Z (RTC-CG)

CG25H B K MEE : 500F K

CG32KymKMIE : 700K

BEEE 12K/ (BXHET)

BRAKEE : 2TR

B| CG-32| CG-25
HD-63| 153,25| 145,25

HD-50 134 126
HD-40| 1183| 1103
HD-32 -| 9875
HD-25 - -

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



6 Bosch Rexroth AG | Pneumatics

FRER - REEEAH

Easy-2-Combine, FEER A G
» AF4HA%E : RTC-HD/RTC-CG

C| CG-32| CG-25

HD-63| 86,8 81,3
HD-50| 86,8| 81,3
HD-40| 813| 758
HD-32 - 758
HD-25 - -

D| CG-32| CG-25

HD-63 52,5 52,5
HD-50 52,5 52,5

HD-40 47 47
HD-32 - 47
HD-25 - -

E| CG-32| CG-25

HD-63| 1489 1493
HD-50| 138,9| 1393
HD-40| 1172 1176
HD-32 -l 1037
HD-25 - -

F| CG-32| CG-25

HD-63 223,4 215,4
HD-50 213,4 205,4
HD-40 191,7 183,7
HD-32 - 169,8
HD-25 - -

G| CG-32| CG-25

HD-63 260,9 252,9
HD-50 250,9 2429
HD-40 229,2 221,2
HD-32 - 207,3
HD-25 - -

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 7

F@RER - RESERAY

Easy-2-Combine, LA H

» AFHERE : RTC-CG/RCM/RTC-CG/SGN/RTC-CG/GSP/RTC-CG /LS04

B E $H TEEW
! IR st
Wi |: $B4T W, EH
\.‘ﬂ
[ -
BRAMEZE
B %= m= EasyHandling 24 HZ B4,
Easy-2-Combine-& it Easy-2-Combine-Z23 {4 b= BEE = miEs
[kal

RTC-CG 25 RCM#ILS04 1) Fig. 1 0,4 R402003946

RTC-CG 32 RCMFILS04 1) Fig. 1 0,5 R402003947
SGN Fig. 3 0,2 R402003948
SGN Fig. 3 0,25 R402003949
SGN Fig. 3 0,25 R402003950

RTC-CG 2) GSP-A-16, 25, 32, GSP-R-16, 25, 32, .
GSP-P-16. 20, 25 Fig. 2 0,2 R402003951
GSP-Z-16, GSP-Z-32 Fig. 2 0,2 R402003952
GSP-A-40, GSP-R-40, GSP-P-40 Fig. 3 0,2 R402003954

1) EELS04/A(7] (EE) »
2) RTCQ258,032% 5| R{TEE TR L IEI.
RIFSEE : B EEIERRE DR

HREFIRARNM RS S MEER O EEER, FEERIEREYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




8 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» FF4HA%E : RTC-CG/RCM/RTC-CG / SGN / RTC-CG / GSP / RTC-CG / LS04

AEEN : RTCRIISRCMAFBIE THZERHATAS

00137889_c

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics 9
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AF4HA%E : RTC-CG/RCM/RTC-CG / SGN/ RTC-CG / GSP / RTC-CG / LS04

TREERR
A
(@]
T
W a
« O L
@ 44/
.
_@ 2xM3
H
s
oT1
2 >
= it v z
X
<
kel
00137889
A A1 B B c Ci D| oD1 E E1 F F1
R402003946 76,7| 2x74 3| 2x86 13| 2x30 20 6 45° 58| 4x18,6| 30,35
R402003947 92| 2x 89,9 3| 2x10,5 16| 2x30 20 9 45° 58| 4x22| 36,25
G G1 H H1 I I J Ji K L oM ON
R402003946 | 20,35 20 31,1 32| 4x10,7 2x5 22 45° 70 91,2 60 40
R402003947 | 29,75 20 31,1 32| 4x13,7 2x 5 22 45° 70 110 60 40
o) P Q R RG | ORP F7 S oT U v w X
R402003946 5 456 4x10 45° M5 9 110 9| 2x2,1 32,5 75 10
R402003947 5 55| 4x 10 45° M6 12 110 12| 2x2,1 32,5 75 10
Y z
R402003946 4x 5 10
R402003947 4x 4 10

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



10 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» FF4HA%E : RTC-CG/RCM/RTC-CG / SGN / RTC-CG / GSP / RTC-CG / LS04

AEBE2 : RTCRIIS5GSPRIEI TR FERINBFREH#HTAS

00137889_d

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics 11

FRER - REEEAH

Easy-2-Combine, LA H
» AF4HA%E : RTC-CG/RCM/RTC-CG / SGN/ RTC-CG / GSP / RTC-CG / LS04

BT EE 4 R
B
T N n_hon
of ———1 9 P_F_t
© T { T
‘_S ‘ I
oo g} | olll[llle
. o 0 o ‘
O ‘ ‘
o o |: | j
oA | ‘
/aay -
GSP-A GSP-P
: A
t hoo f ]
of I———— 1
j o ——1 |
e | |
o T o o8 o Ll ) :
©) | ‘
o ||| of—
1 |
1 @.
GSP-R GSP-Z
Q QA B C
16 75 60 16
25 75 60 16
40 75 60 16
D
GSP-A-16 56
GSP-A-20 74
GSP-A-25 74
GSP-A-40 106
GSP-P-16 68
GSP-P-20 79
GSP-P-25 95

GSP-P-40 131
GSP-R-16 711
GSP-R-20 94,5
GSP-R-25 94,5
GSP-R-40 126
GSP-Z-16 52
GSP-Z-32 65

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



12 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» FF4HA%E : RTC-CG/RCM/RTC-CG / SGN / RTC-CG / GSP / RTC-CG / LS04

REES : RTCRIIFISGNRIIBI TR RERNEZRERRTAS

00137889_e

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics 13
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AF4HA%E : RTC-CG/RCM/RTC-CG / SGN/ RTC-CG / GSP / RTC-CG / LS04

B ZSHeER R-T g
F
-
|
|
|
!
o0 |
° i
1
@D |
9E
00137890
A B C oD OE F
R402003948 M5 20 4 30 75 60
R402003949 G1/8 25 3 30 75 60
R402003950 G1/4 30 8 30 75 60

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



14 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
> ATFHERE : RCM-...-AP / GSP » HESIRE

1254 2) N, BERARELLE
MHER TGN

EEHER 5B, PRIRELALE
1857 1) W, FE5E

1) ISO 4762:2004
2) DIN EN ISO 4027:2004

00123233

BAMEFE

m %~ @2 EasyHandling Z&HIE 4,

Easy-2-Combine- Xt Easy-2-Combine-& % Easy-2-Combine-Z#4H {4 EE FemitEn
[kgl
GSP-P-08 CK1-RO-106 R412005785
RCM-08 GSP-A-10, GSP-P-10, GSP-R-10 [ CK1-RO-107 0,03 R412005786
RCM-12 GSP-A-10, GSP-P-10, GSP-R-10 |[CK1-RO-108 0.04 R412005787
GSP-A-16, GSP-P-16, GSP-R-16 | CK1-RO-109 ’ R412005788
GSP-A-16, GSP-P-16, GSP-R-16 | CK1-RO-110 0,06 R412005789
RCM-16 GSP-Z-16 CK1-RO-116 0,05 R412005796
GSP-P-20 CK1-RO-111 0,08 R412005790
GSP-A-25, GSP-R-25 CK1-RO-121 0,08 R412005801
GSP-Z-16 CK1-RO-117 0,06 R412005797
GSP-P-20 CK1-RO-112 0,07 R412005791
RCM-20 GSP-A-25, GSP-P-25, GSP-R-25 |CK1-RO-113 0,07 R412005792
GSP-A-32, GSP-R-32 CK1-RO-115 0,11 R412005794
GSP-Z-32 CK1-RO-118 0,1 R412005798
GSP-P-25 CK1-RO-114 0,08 R412005793
RCM-25 GSP-A-32, GSP-R-32 CK1-RO-122 0,17 R412005802
GSP-Z-32 CK1-RO-119 0,16 R412005799
GSP-Z-50 CK1-RO-120 0,19 R412005800

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 15
FmBER - BiEEEEY

Easy-2-Combine, FEER5EA G
» ATFHERE : RCM-...-AP / GSP » HESIRE I

k2% GSP-A/-P/-R

00123234

BEEREEE (EREYR, RCM-..-APERJF) FHMZSEEIGT

B, HEREINSEFEEEHEEEZA | BEREYRERE
f’éﬁj (QR1 - Mini&3) S (TU..R3) , SEFE125E (R
EHED .

EZ%e3k: GSP-Z

00123236

EERREEES (BEEER, RCM-.-APRF) EMZESEERIGL
B, RERIMSETEEERETEZNA | iEERAIE LB E
Eﬁi) (QR1 - Minig3l) FISE (TU...R5) , BHEE12E (&

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-12-20, © Bosch Rexroth AG, 1783 & X4LF]



16 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
> ATFHERE : RCM-...-AP / GSP » HESIRE

CK1-RO-106/ ... /-112 CK1-RO-113/-114/-121
AA
NEaNNNENE =
¢ :
D1
A

00123238 00123239

1) EOER
CK1-RO-115/-122 CK1-RO-116/-117 / -119
A-A A-A |
' NENN|
a |
1) EOMBR

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

17

Easy-2-Combine, LA H
» ATFHERE : RCM-...-AP / GSP » HESIRE I

CK1-RO-118/-120

H1

D1

!
oY
00123242
1) #®&O"BR"

Easy-2-Combine-2 %40 {4 D1 EE H1
CK1-RO-106 35 M3 6,9
CK1-RO-107 35 M3 6,9
CK1-RO-108 43 M3 6,9
CK1-RO-109 43 M3 6,9
CK1-RO-110 53 M3 6,9
CK1-RO-116 48 M5 6,9
CK1-RO-111 53 M3 8,9
CK1-RO-121 53 M3 8,9
CK1-RO-117 52 M3 6,9
CK1-RO-112 52 M5 8,9
CK1-RO-113 52 M5 8,9
CK1-RO-115 58 M5 10,9
CK1-RO-118 58 M5 8,9
CK1-RO-114 58 M5 8,9
CK1-RO-122 68 M5 11,9
CK1-RO-119 68 M5 10,3
CK1-RO-120 70 M5 10,3

#ITER - A) ERER B) 1857 C) EIEE D) 1%

Easy-2-Combine-Z224A 14 A B 1) Cc D2)

CK1-RO-106 1x 2 x M3x10 4xD5 4 x M4x5

1) B HEERAMS = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm * 10%
2) IFEHESAME =12 Nm + 10%; M5 = 2,8 Nm + 10%; M6 = 4,8 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



18 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
> ATFHERE : RCM-...-AP / GSP » HESIRE

Easy-2-Combine-22 348 (% A B1) © D 2)
CK1-RO-107 1x 2 x M3x10 4xQD5 4 x M4x5
CK1-RO-108 1x 2 x M3x10 2xD35,2xQD7 4 x M5x6
CK1-RO-109 1x 2 x M3x10 2xD35,2xQ07 4 x M5x6
CK1-RO-110 1x 2 x M3x10 2xD35;2xQD07 4 x M5x6
CK1-RO-116 1x 3 x M3x45 2xQD7 4 x M5x6
CK1-RO-111 1x 2 x M4x12 4xD7 4 x M5x6
CK1-RO-121 1x 2 x M5x12 4xD7 4 x M5x6
CK1-RO-117 1x 3 x M3x45 2xQD7 4 x M6x6
CK1-RO-112 1x 2 x M4x12 4xD7 4 x M6x6
CK1-RO-113 1x 2 x M5x12 4xD7 4 x M6x6
CK1-RO-115 1x 2 x M6x16 2xB7;2xD9 4 x M6x6
CK1-RO-118 1x 3 x M4x55 2xQD7 4 x M6x6
CK1-RO-114 1x 2 x M5x12 2xDB7;2xD9 4 x M6x6
CK1-RO-122 1x 2 x M6x16 4xQD9 4 x M6x10
CK1-RO-119 1x 3 x M4x55 2x@J9 4 x M6x6
CK1-RO-120 1x 3 x M6x75 2x@J9 4 x M6x6

1) IR NERAMS =22 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%
2) IFEHNESAMSE =1,2Nm + 10%; M5 = 2,8 Nm + 10%; M6 = 4,8 Nm + 10%

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics 19
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AFHSRE : MSC/GSP

EZESH 2) W, ERH
HRER TR

EEHER B, PRIRELALE
1257 1) H, $EE

1) ISO 4762:2004, DIN 6912:2002, DIN 7984:2002
2) ISO 2338:1997

00120645

BRAMEZE

m %/ &2 EasyHandling R0 84,

Easy-2-Combine-Efill Easy-2-Combine-%23 {4 Easy-2-Combine-R2#£ 4% B8 S

[kal

GSP-P-08 CK1-LI-55 R412000734

MSC-08 GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-56 0.03 R412000735
GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-57 0,04 R412000759

MSC-12 GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-59 0,04 R412000738
GSP-Z-16 CK1-LI-71 0,05 R412000750
GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-58 0,07 R412000737
GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-60 0,07 R412000739

MSC-16 GSP-Z-16 CK1-LI-72 0,08 R412000751
GSP-P-20 CK1-LI-62 0,07 R412000760
GSP-A-25, GSP-R-25 CK1-LI-68 0,08 R412000747
GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-61 0,11 R412000740
GSP-Z-16 CK1-LI-73 0,11 R412000752

MSC-20 GSP-P-20 CK1-LI-63 0,11 R412000742
GSP-A-25, GSP-P-25, GSP-R-25 | CK1-LI-65 0,11 R412000744
GSP-A-32, GSP-R-32 CK1-LI-69 0,14 R412000748
GSP-Z-32 CK1-LI-74 0,12 R412000753
GSP-P-20 CK1-LI-64 0,19 R412000743
GSP-A-25, GSP-P-25, GSP-R-25 | CK1-LI-66 0,19 R412000745

MSC-25 GSP-A-32, GSP-R-32 CK1-LI-70 0,23 R412000749
GSP-Z-32 CK1-LI-75 0,21 R412000754
GSP-Z-50 CK1-LI-76 0,33 R412000755

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



20 Bosch Rexroth AG

FRER - REEEAH

| Pneumatics

Easy-2-Combine, FEER A G

» AFHERE : MSC/GSP

IEE%®ES: GSP-A/-P/-R

FFHE%R%: GSP-Z

00120595

CK1-LI-55/-56 / -61/ -63 / -65
A-A

AN =

00120613

00120622

CK1-LI-57 / -58 / -59

00120596

A-NA

> ->|

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI

ENNSN\E

B2

|

[

B1

> |

00120624

00120614



Bosch Rexroth AG | Pneumatics 21
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AFHSRE : MSC/GSP

CK1-LI-60 / -62 / -68 CK1-LI-64 / -66

A-A o A-A ‘
NN NN = EENEEN NNNE

- A

00120625

>
2

00120623

CK1-LI-69 CK1-LI-70

= RN NNN\\\\E

b

> =
B1
-

00123243

00123244

HEFIRRNMRIRE S NEEN RO ERRIRER, #AERIE WY E
S @-B%, E%PDF, #IEF 2011-12-20, © Bosch Rexroth AG, 1783 & X4LF]



22 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» AFHSRE : MSC/GSP

CK1-LI-71/ .../ -74 CK1-LI-75

Y .

H1

L1

of o U

L1

= . @W

I AP A B 7Y e U ;
A 4}-@_%9— i : - (j) —li—-¢--jﬂ
| & Bl
A

00120627

CK1-LI-76
A-A ‘ ‘
\ \ =
e IR o
L1
\
o |
RN ) © 7
& Oy
e 7 5 A
FOR T e
L s
. ey
& T &
I | [
A
00123245
Easy-2-Combine-Z23t4A B1 B2 H1 L1
CK1-LI-55 27 58 6 49
CK1-LI-56 27 58 6 49
CK1-LI-57 32,5 45 6 64
CK1-LI-59 32,5 45 6 64
CK1-LI-71 32,5 9,25 6 64
CK1-LI-58 39 6.8 8 74,6
CK1-LI-60 39 58 8 74,6
CK1-LI-72 39 14,3 8 74,6
CK1-LI-62 39 58 8 74,9
CK1-LI-68 39 8.8 8 74,6
CK1-LI-61 49 15,8 8 91
CK1-LI-73 49 16,8 8 91
CK1-LI-63 49 15,8 8 91

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics

FERER - WEEEA

Easy-2-Combine, EE LA H

» ATFEEHRE : MSC/GSP

Easy-2-Combine-Z23£ 48 B B2 H1 L1

CK1-LI-65 49 15,8 8 91
CK1-LI-69 49 3,8 10 91
CK1-LI-74 49 19,3 8 91
CK1-LI-64 58 25 10 110
CK1-LI-66 58 28 10 110
CK1-LI-70 58 11 12 110
CK1-LI-75 58 24 10 110
CK1-LI-76 78 37 12 110

HITERE : A) &R B) 84T C) BEE D) BEEH

Easy-2-Combine-Z23£4A 4 A B 1) c D

CK1-LI-55 1x 5 x M3x8 4xD5 -
CK1-LI-56 1x 5 x M3x8 4x@D5 -
CK1-LI-57 1x 3 x M4x8; 2 x M3x8 2xD35,2x07 -
CK1-LI-59 1x 2 x M3x8; 3 x M4x8 2x35,2xQ07 -
CK1-LI-71 1x 3 x M3x45; 4 x M4x8 2xQD7 2 x 3 m6x8
CK1-LI-58 1x 2 x M3x10; 3 x M5x12 2xD35;2xQ09 -
CK1-LI-60 1x 2 x M3x10; 3 x M5x12 2xD35;2x09 -
CK1-LI-72 1x 3 x M3x45; 3 x M5x12 2x09 2 x 3 m6x8
CK1-LI-62 1x 2 x M4x10; 3 x M5x12 2xD7;2xD9 -
CK1-LI-68 1x 2 x M5x12 (DIN 7984:2002); 3 x M5x12 2xD37;2xD9 -
CK1-LI-61 1x 2 x M3x10; 3 x M5x12 2xD35;2x09 -
CK1-LI-73 1Xx 3 x M3x45; 3 x M5x12 2xQ09 2 x 3 m6x8
CK1-LI-63 1x 2 x M4x10; 3 x M5x12 2x0D7;2xD09 -
CK1-LI-65 1x 5 x M5x12 2xQ07;2x09 -
CK1-LI-69 1x 2 x M6x16; 3 x M5x16 4xQ09 -
CK1-LI-74 1x 3 x M4x55; 3 x M5x12 2xd9| 2x4m6x12
CK1-LI-64 1x 2 x M4x12; 4 x M6x12 2xQD7;2xQD12 -
CK1-LI-66 1x 2 x M5x12; 4 x M6x12 2xQD7;2xQD12 -
CK1-LI-70 1x 2 x M6x16 (DIN 6912:2002); 4 x M6x16 2x@9;2xD12 -
CK1-LI-75 1x 3 x M4x55; 4 x M6x12 2x@12| 2x4m6x12
CK1-LI-76 1x 3 x M5x75; 4 x M6x16 2x@12| 2x5m6x12

1) #FFENERAMS = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




24 Bosch Rexroth AG

FRER - REEEAH

| Pneumatics

Easy-2-Combine, FEER A G
» AFHSRE : ZSC/GSP

EHER

1857 1) W,

1) ISO 4762:2004

=

00120647

$aHt, BRARSEILALIE

BAMEFE

m %~ @2 EasyHandling Z&HIE 4,

Easy-2-Combine- Xt Easy-2-Combine-& % Easy-2-Combine-Z#4H {4 EE FemitEn
[kgl
ZSC-10 GSP-P-08 CK1-LI-106 0,02 R412004678
ZSC-16 GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-101 0,02 R412000785
ZSC-20 GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-102 0,03 R412000786
ZSC-25 GSP-P-20 CK1-LI-103 0,07 R412000787
IFmE%%: GSP-A/-P/-R
00120599 00120600
CK1-LI-101/-102/-103 / -106
A-A 1

V777277570 1 =
L1

|

T
A

00120628

J>—>|

B2

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 25
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AFHSRE : ZSC/GSP

Easy-2-Combine-Z23£ 48 B B2 H1 L1
CK1-LI-106 16 4 6 46
CK1-LI-101 16 3 6 50
CK1-LI-102 20 4 8 62
CK1-LI-103 24 4 8 80

HETERE : A) &R B) 1847

Easy-2-Combine-Z2 48 {4 A B 1)
CK1-LI-106 1x 2 x M4x12; 2 x M3x8
CK1-LI-101 1x 2 x M3x8; 2 x M5x14
CK1-LI-102 1x 2 x M3x8; 2 x M6x16
CK1-LI-103 1x 2 x M4x12; 2 x M8x20
1) FEHNEHRAMI =2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%; M8 = 25 Nm * 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



26 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» AFHERE : GPC-E/GSP

EIEH 2)
MHER
EEHER
1857 1)

[ 1) ISO 4762:2004
—h 2) ISO 2338:1997

00120641

W, ERE

TGN

5B, PRIRELALE

M, e

BAMEFE

m %~ @2 EasyHandling Z&HIE 4,

Easy-2-Combine- Xt Easy-2-Combine-& % Easy-2-Combine-Z#4H {4 EE FemitEn
[kgl
GSP-P-08 CK1-LI-26 R412000761
GPC-E-12 GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-27 0,04 R412000762
GPC.E16 GSP-A-10, GSP-P-10, GSP-R-10 | CK1-LI-28 0,06 R412000763
GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-29 0,05 R412000770
GPC-E-20 GSP-A-16, GSP-P-16, GSP-R-16 | CK1-LI-30 0,07 R412000765

EE@E®R%: GSP-A/-P/-R

00120587

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4

00120588




FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

Easy-2-Combine, LA H

» ATFHARE : GPC-E/GSP

CK1-LI-26 / -27 CK1-LI-28 /-30
A-A ‘ A-A l ,
777577 < A7 <
, L1
. ) L1
_$___1_. @ L ‘
r i l | 7ay 8# = - | @ 3
A —‘@—‘—‘@—— cn—f $ .I@ L & @ |
o | @ A LG 5 4
I omzosAze ‘ A
O &
‘ 00120630
CK1-LI-29
A-A | . '
77787777 =
L L1
|
|
4 — i
! | ! 8 A
bl &
| L
1
A
00123246
Easy-2-Combine-Z234A B1 B2 H1 L1
CK1-LI-26 27 10 8 55
CK1-LI-27 27 10 8 55
CK1-LI-28 30 4 8 65
CK1-LI-29 30 14 8 65
CK1-LI-30 33 6,5 8 77
#ETEE : A) E#ER B) 4857 C) EIXEE D) BEEH
Easy-2-Combine-R& A% A B 1) C D
CK1-LI-26 1x 2 x M3x10; 4 x M4x16 2x05 -
CK1-LI-27 1x 2 x M3x10; 4 x M4x16 2x@5 -
CK1-LI-28 1x 2 x M3x10; 4 x M4x16 2x@5| 2x4m6x12
CK1-LI-29 1x 2 x M3x10; 2 x M4x16 2x@5| 2x4méxi12
CK1-LI-30 1x 2 x M3x10; 4 x M5x16 2x@5| 2x4méxi12

1) IFEHEFEAMS =2,2Nm + 10%; M4 =

3,5 Nm + 10%; M5 = 6,0 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




28 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHERE : MSC/RCM

1857 1) 0, P

1) ISO 4762:2004

00120646

BAMEE

m %= &2 EasyHandling ZZ&HIE 4,

A) =1, B) P=@m2. C) 44T

A B Cc
RCM-06 MSC-08 2 x M3x20
RCM-08 MSC-12 2 x M4x20
RCM-12 MSC-16 2 x M5x30
RCM-12 MSC-20 2 x M5x30
RCM-16 MSC-16 2 x M5x35
RCM-16 MSC-20 2 x M5x35
RCM-20 MSC-25 2 x M6x40
RCM-25 MSC-25 2 x M6x45

EER : #A

00120597 00120598

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics

FRER - REEEAH

Easy-2-Combine, LA H
» ATFHARE : MSC/MSC

1857 1) i, $EE

1) ISO 4762:2004

00120637

BAMEE

m %= &2 EasyHandling ZS&HIE 4,

AIlRREE - A) @1, B) @2, C) 84T

A B 9
MSC-08 MSC-12 2 x M4x18
MSC-12 MSC-16 2 x M5x20
MSC-16 MSC-20 2 x M5x30
MSC-20 MSC-25 2 x M6x35

EAEREK : 9m

00117712

00117711

EAERE : #E

00117714

00117713

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



30 Bosch Rexroth AG | Pneumatics

FRER - REEEAH

Easy-2-Combine, EELRAH
» AFASEIRE : MSC/MSC ﬁa@

BRI 1 A) @1, B) @2, C) #8%T

A B C
MSC-08 MSC-12 2 x M4x16
MSC-12 MSC-16 2 x M5x20
MSC-16 MSC-20 2 x M5x30
MSC-20 MSC-25 2 x M6x35

BR=R 4@

00117717 00117718

BR=R : HE

00117715 00117716

HEFIRRMNFRIES NEE MR O ERRIRER, #FAERIENHE
S@HEG-B5, T4PDF, #IETF 2011-12-20, © Bosch Rexroth AG, 1R & X4LF]



Bosch Rexroth AG | Pneumatics 31
FmBER - BiEEEEY
Easy-2-Combine, R A %
» ATFHERE : MSC/ZSC
EZESH 2) M, X
XHPER TR
ERRR $aH, PRIREILALIE
$24T 1) H, $EE
T-EUigIR T, N, FE5E
00120638
1) 1ISO 4762:2004
2) ISO 2338:1997
BARMEE
B %/ fm&2 EasyHandling ZF&HIF B4
Easy-2-Combine-Z:fi} Easy-2-Combine-2# {4 Easy-2-Combine-2 340 {4 B8 B
[kg]
MSC-08 ZSC-06 CK1-LI-12 0,07 R412004641
GPC-ST-12, GPC-ST-20,
MSC-12, RMC-HE-186,
RMG-HE-25. RTC.HD 16, | GPC-E-12,Z8C-10 CK1-LI-13 0,1 R412004665
RTC-HD 25
GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMC-HE-16, RMC-HE.25, | GPC-E-16,ZSC-16 CK1-LI-14 0,17 R412004661
RTC-CG 16
GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC- | GPG-E-20, ZSC-20 CK1-LI-15 0,26 R412004662
HD 32, RTC-HD 40
5025, MSC-25, RTCCG 1 76 25 CK1-LI-16 0.3 R412004663

EERE : Y[

00117719

MEEIRITRREENERN RO CERAER, $AERIEN MY E
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH

00117720




32 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHAARE : MSC/2ZSC

EAEEK : #E

00117721

00117722

BRI : YA

00117725

00120576

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Bosch Rexroth AG | Pneumatics 33

Easy-2-Combine, LA H
» ATFEERE : MSC/ZSC

BR=AK : A

00117723

CK1-LI-12 CK1-LI-13

L1

oo
||
o
oo
@
©

T
A

L2

00120632

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH

00117724

AA | |
L SVININERNNIARE:

L1

> !

B1

T
A

00120633



34 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHAARE : MSC/2ZSC

CK1-LI-14/-15 CK1-LI-16
A-A

I NE=ERE:

A-A

i

L1 L1

g
|
Ny
%
*d;>
!
"
®
s

00120634_a

00120635

Easy-2-Combine-2#4A ¥ B1 H1 L1 L2
CK1-LI-12 38 8 68 18,5
CK1-LI-13 49 8 63 10
CK1-LI-14 64 10 72 10
CK1-LI-15 76 12 77,5 10
CK1-LI-16 80 12 80 10

#ETEE : A) EHER B) 1857 C) BEE D) BEH E) JREE

Easy-2-Combine-Z23¢4H {4 A B 1) c D
CK1-LI-12 1x 2 x M3x10; 4 x M3x16 2x@5| 2x4m6x12
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2x@D7;2xQD9-7| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xJ9| 2x4m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x@12;2x @ 12-9| 2 x4 m6x12
CK1-LI-16 1x 4 x M5x45; 4 x M6x16; 2 x M6x14; 4 x M6x25 6xd12| 2x4mb6x12
Easy-2-Combine-Z23&4H E
CK1-LI-12 -
CK1-LI-13 2x N6/ M4
CK1-LI-14 2x N6/ M5
CK1-LI-15 2 x N8 /M6
CK1-LI-16 2 x N8 /M6

1) IrENEZAM3 = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI




FRER - REEEAH

Bosch Rexroth AG | Pneumatics 35

Easy-2-Combine, LA H
» ATFHEEE : MSC/GPC-E

ElEH 2) W, FEXH

AhEE TR

R $aH, PRIREILALIE

1247 1) H, $EE

T-BUfEIEE T, N, FE5E

00120639

1) ISO 4762:2004

2) ISO 2338:1997
BRAMEZE
m %2 EasyHandling ZHHITERH.
Easy-2-Combine-Z:fi} Easy-2-Combine-2# {4 Easy-2-Combine-2 340 {4 B8 B

[kg]

GPC-ST-12, GPC-ST-20,
MSC-12, RMC-HE-16,
RMC-HE-25, RTC-HD 16, GPC-E-12, ZSC-10 CK1-LI-13 0,1 R412004665
RTC-HD 25
GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMO-HE-16 RMC-HE-25, | GPC-E-16,Z5C-16 CK1-LI-14 0,17 R412004661
RTC-CG 16
GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC- GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662
HD 32, RTC-HD 40

EERE : Y[

00120577

00120578

MEEIRITRREENERN RO CERAER, $AERIEN MY E
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




36 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHERE : MSC/GPC-E

EAEEK : #E

00120579
00120580

BRI : YA

00120583

00120584

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

37

Easy-2-Combine, LA H
» ATFHEEE : MSC/GPC-E

BR=AK : A

CK1-LI-13

1
7 g
2!

00120581

CK1-LI-14/-15

00120582

N

L1

A -0 T ] N P _
A -+ i i
A & @ oA
- O %0 | |A
= 00123271_a
L2
00123272_a
Easy-2-Combine-2234A B1 H1 L1 L2
CK1-LI-13 49 8 63 0,5
CK1-LI-14 64 10 72 4
CK1-LI-15 76 12 77,5 1,5
#1598 : A) 245 B) 57 C) EXED) BT E) HRiER
Easy-2-Combine-Z23£4A A B 1) c D
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2x@D7;2xD9| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6x@09| 2x4mb6xi2
2 x M5x12; 2 x M5x14

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



38 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHERE : MSC/GPC-E

Easy-2-Combine-22 348 (% A B 1) C D
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4xJ12;2x @0 12-9| 2 x4 m6x12
Easy-2-Combine-22: 41§ E

CK1-LI-13 2 x N6/ M4
CK1-LI-14 2 x N6 /M5
CK1-LI-15 2 x N8 / M6

1) IFENERZRAM3 = 2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 39

FRER - REEEAH

Easy-2-Combine, LA H
» ATFHE%EE : GPC-E/GPC-E

i
W EIEH 2) W, EXH
B2£T 1) W, FEEE
—
= = 1) ISO 4762:2004
= 2) SO 2338:1997
BARMEE

m %= &2 EasyHandling ZS&RIE 4,

A) =&1, B) F=&2, C) #4]. D) BxEH

A B C1) D
GPC-E-12 GPC-E-16 4 x M5x16 2 x4 mé6x12
GPC-E-16 GPC-E-20 4 x M5x16 2 x4 méx12
1) IFENERAMS = 6,0 Nm + 10%

EERE : 4\m

00120585 00120586

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




40 Bosch Rexroth AG
FEmBR - BEEEAY

| Pneumatics

Easy-2-Combine, #EER A G
» ATFHEEE : GPC-ST/MSC

00120653

WHER
1857 1)
T-BUiEIEE

1) ISO 4762:2004

TGN
M, 5

TEW; W,

BAMEE

m %/ 52 EasyHandling 28I 4.

Easy-2-Combine-Ziit

Easy-2-Combine-Z23 4

Easy-2-Combine-Z23t4A {4

PR

[kal

GPC-ST-12

CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25,

MSC-08

CK2-LI-01

0,01

R412004687

CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25,
GPC-ST-12, GPC-ST-20,
RTC-HD 16, RTC-HD 25

MSC-12

CK2-LI-02

0,02

R412004688

GPC-ST-20

MSC-16

CK2-LI-03

0,02

R412004689

BRZR : HE

#ESERE : A) $8$T B) BEE C) RIRIED

00120611

00120612

Easy-2-Combine-22 348 A1) B C
CK2-LI-01 2 x M4x16 2x@9-7| 2xN6/M4
CK2-LI-02 2 x M5x20 2x@9| 2xN6/M5
CK2-LI-03 2 x M5x25 2x@9| 2xN6/M5
1) IFEHEFAMS = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 41

FRER - REEEAH

Easy-2-Combine, LA H
» AFHERE : GPC-ST/GPC-E

gh
NS = B2 4 2) . FAH
- == T RE R TEEW
—_ R a4, PRAREfLALIE
4247 1) o, 55
00120642 T-BU e B BN

1) ISO 4762:2004
2) |SO 2338:1997

RAMEE

m %/ f=2 EasyHandling R&MZE 4.

Easy-2-Combine-Z:fi} Easy-2-Combine-2# {4 Easy-2-Combine-2 340 {4 B8 B
[kq]

GPC-ST-12, GPC-ST-20,

MSC-12, RMC-HE-16,
RMC-HE-25, RTC-HD 16, | GPC-E-12,28C-10 CK1-LI-13 0,1 R412004665

RTC-HD 25
GPC-ST-12, GPC-ST-20,

GSU-16, MSC-16, MSC-20,
RMC-HE-16, RMC-HE-25, | GPC-E-16,28C-16 CK1-LI-14 0,17 R412004661

RTC-CG 16

BR=R : A

00120589

00120590

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



42 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» AFHEIRE : GPC-ST/GPC-E

CK1-LI-13 CK1-LI-14

L1

l633%51. w
} = I\T T | T'é——__—_jg_-_ﬁ@—é
A Aanak I Al O -G
A & NN e TR
***** & 0% | |A
4»#
00123271_a
L2
00123272_b
Easy-2-Combine-Z23 48 {4 B H1 L1 L2
CK1-LI-13 49 8 63 0,5
CK1-LI-14 64 10 72 4
#ITEE : A) EHER B) %7 C) BIXE D) BEXEHE) HRizE
Easy-2-Combine-22 348 A B 1) C D
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2xD7;2xD9| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 4xQJ9| 2x4m6x12
2 x M5x12; 2 x M5x14

Easy-2-Combine-Z&234H 4 E
CK1-LI-13 2 x N6/ M4
CK1-LI-14 2 x N6 /M5

1) IFEHEFEAM3S =22 Nm £ 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 43
FmBER - BiEEEEY

Easy-2-Combine, LA H
» ATFHEEE : GSU/MSC

HRER TR
1857 1) i, $EE

00120643

1) ISO 4762:2004

BAMEE

m %/ f=2 EasyHandling R&HMZE 4.

A) &1, B) &2, C) 84T, D) EIEE

A B c1) D
MSC-12 GSU-16 2 x M5x20 2x 09
MSC-16 GSU-16 2 x M5x30 2x09
MSC-20 GSU-25 2 x M6x35 2x @12
MSC-25 GSU-25 2 x M6x40 2x @12

1) FFEHEFAMS = 6,0 Nm £ 10%; M6 = 10 Nm = 10%

BR=R : A

00120591 00120592

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



44 Bosch Rexroth AG

FRER - REEEAH

| Pneumatics

Easy-2-Combine, FEER A G
» ATFHERE : GSU/ZSC

EIEH 2)
MHER
EEHER
1857 1)
T-RUREIRE

00120652

1) ISO 4762:2004
2) ISO 2338:1997

W, ERE

TGN
5B, PRIRELALE
M, e

TEW; W,

BAMEE

m %/ 52 EasyHandling 2884,

Easy-2-Combine-E i}

Easy-2-Combine-&# ¥

Easy-2-Combine-22 348

P

[kal

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMC-HE-16, RMC-HE-25,
RTC-CG 16

GPC-E-16, ZSC-16

CK1-LI-14

0,17

R412004661

GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC-
HD 32, RTC-HD 40

GPC-E-20, ZSC-20

CK1-LI-15

0,26

R412004662

GSU-25, MSC-25, RTC-CG
32

ZSC-25

CK1-LI-16

0,3

R412004663

BIREI : fRE

00120609

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4

00120610




FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

45

Easy-2-Combine, LA H

» ATFHERE : GSU/ZSC

CK1-LI-14/-15
A-A

IS

L1

b O Osd
flo & Glows:
¢ o 0%

|
B1
> |

00120634_a

CK1-LI-16

»
T—r

H1

L1

00123273

Easy-2-Combine-%2 340 % B1 H1 L1 L2
CK1-LI-14 64 10 72 9
CK1-LI-15 76 12 77,5 8
CK1-LI-16 80 12 80 8
#ITEE : A) E#ER B) 14T C) EIXE D) BT E) kizg
Easy-2-Combine-22 40 ¥ A B 1) C D
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6x09 2 x4 m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x@12;2xJ 12-9 2 x4 mbx12
CK1-LI-16 1Xx 4 x M5x45; 4 x M6x16; 2 x M6x14;4 x M6x25 6xQ012 2 X 4 m6x12
1) #FEHEHFEAMS = 3,5Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



46 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATHERE : GSU/GPC-E

.
“',L‘ 4 2) R, K

Ao — HRER TN
SEHEAR S, PRARSALALEE
4247 1) W, e
T-BU IR 5 TR, W, s

1) ISO 4762:2004
2) ISO 2338:1997

BAMEE
m %/ 52 EasyHandling 2884,

Easy-2-Combine- i} Easy-2-Combine-&¥ {4 Easy-2-Combine-2 340 {4 HE el
[ka]

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,

RMC-HE-16, RMC-HE-25, | GPC-E-16,25C-16 CK1-LI-14 0,17 R412004661
RTC-CG 16

GSU-25, MSC-25, RMC-

HE-32, RTC-CG 32, RTC- | GPG-E-20, ZSC-20 CK1-LI-15 0.26 R412004662

HD 32, RTC-HD 40

BRIk : HE

00120593 00120594

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



Bosch Rexroth AG | Pneumatics 47
FmBER - BiEEEEY

Easy-2-Combine, LA H
» ATFHERE : GSU/GPC-E

CK1-LI-14/-15
A-A -
1IN NIRENE
L1
Ao O OloDrs
N YRR
S e w0 | |8
L2
Easy-2-Combine-%23£ 40 B H1 L1 L2
CK1-LI-14 64 10 72 4
CK1-LI-15 76 12 77,5 1,5

HETEE - A) EHIR B) 4857 C) EEE D) EEH E) SRIKIFEE

Easy-2-Combine-22 340 {§ A B 1) C D
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xJ9| 2x4m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x312;2x @D 12-9| 2x4 m6x12
Easy-2-Combine-Z&244H E
CK1-LI-14 2x N6/ M5
CK1-LI-15 2 x N8 /M6

1) IFEHEEFEAMA = 3,5 Nm £ 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




48 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
» iF4H&i1%%& : RMC-HE / GPC-E

& —
- e XHPER el
L i sant, $EEE
9957 1) o
00120649 1) 1ISO 4762:2004
BAMEE

m %/ 52 EasyHandling 28I 4.

Easy-2-Combine-Ztt Easy-2-Combine-Z2% 4 Easy-2-Combine-Z2 340 {4 B2 FrmitEn
[kg]

GPC-ST-12, GPC-ST-20,

MSC-12, RMC-HE-16,
RMC-HE-25, RTC-HD 16, | GFC-E-12,25C-10 CK1-LI-13 0,1 R412004665

RTC-HD 25

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,

RMC-HE-16, RMC-HE-25, | GPC-E-16,25C-16 CK1-LI-14 0,17 R412004661
RTC-CG 16

GSU-25, MSC-25, RMC-

HE-32, RTC-CG 32, RTC- | GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662

HD 32, RTC-HD 40

BIREE : FE

00120603 00120604

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

49

Easy-2-Combine, EE LA H
» ATF4H4AR% : RMC-HE / GPC-E

CK1-LI-13 CK1-LI-14/-15
A'A \ | | | A-A ! )
=N = TS N
T T
L1
L1
le 3881l o
-+ T m
A o 9 @ oA
T Yo A
o D &
00123271_a
L2
00123272_a
Easy-2-Combine-%23£ 40 B H1 L1 L2
CK1-LI-13 49 8 63 0,5
CK1-LI-14 64 10 72 4
CK1-LI-15 76 12 77,5 1,5
HITEE : A) EREMR B) 1847 C) EEE D) BEEH E) HKIEE
Easy-2-Combine-%2 340 {§ A B 1) C D
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2xQD7;2xD9| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xJ9| 2x4m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x312;2x @D 12-9| 2 x4 m6x12
Easy-2-Combine-22 4014 E
CK1-LI-13 2x N6/ M4
CK1-LI-14 2 x N6 /M5
CK1-LI-15 2 x N8 /M6
1) FEHEFZAMI =2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm * 10%

HEFIRIRNAMRIRE S N EE O ERRIAT{ER
SHEH-BF, ELPDF, #IEF 2011-12-20, ©

, M ERE Y
Bosch Rexroth AG, 1R &L




50
FRER - REEEAH

Bosch Rexroth AG | Pneumatics

Easy-2-Combine, EELRAH
» AFAEEE : RMC-HE / MSC

>
WHER TGN
1857 1) M, 5
T-BUiEIEE TEW; W,

00120650

1) ISO 4762:2004

BAMEE

B %= &= EasyHandling &

SHIFER .

Easy-2-Combine-Ztt Easy-2-Combine-Z23 {4 Easy-2-Combine-Z2 340 {4 B2 FrmitEn
[kg]
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25, MSC-08 CK2-LI-01 0,01 R412004687
GPC-ST-12
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25,
GPC.ST-12, GPC-ST-20, | MSC-12 CK2-LI-02 0,02 R412004688
RTC-HD 16, RTC-HD 25
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25, MSC-16 CK2-LI-06 0,02 R412008670
RTC-HD 16, RTC-HD 25
CKK/CKR-20-145, CKP-32, | MSC-20 CK2-LI-07 0,03 R412008671
RTC-HD 32, RTC-HD 40 MSC-25 CK2-LI-08 0,04 R412008672
ARRE : #E
00120605 00120606
#I55E - A) 1257 B) EIEE C) HURKIgE
Easy-2-Combine-%2 348 (% A1) B C

CK2-LI-01 2 x M4x18 2x @97 2 x N6 / M4

CK2-LI-02 2 x M5x20 2x@9 2 x N6 / M5

CK2-LI-06 2 x M5x26,5 2x@9 2 x N6 / M5

CK2-LI-07 2 x M6x32 2x@12 2 x N8 / M6

CK2-LI-08 2 x M6x37 2x@12 2 x N8 / M6

1) IFEHEFEAMA = 3,5 Nm £ 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm = 10%

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




Bosch Rexroth AG | Pneumatics 51
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AF4H 4% : RTC-CG/MSC

X ERE TR
1857 1) i, $EE

00129828

1) ISO 4762:2004

BARMEE
m %/ &2 EasyHandling Z%8IE 4.

A) F=&1. B) F=&2. C) ¥4I, D) BEE

A B c1) D
MSC-12 RTC-CG 16 2 x M5x20 2x09
MSC-12 RTC-CG 25 2 x M5x25 2x09
MSC-16 RTC-CG 16 2 x M5x30 2x09
MSC-16 RTC-CG 25 2 x M5x30 2x09
MSC-20 RTC-CG 32 2 x M6x32 2x@12
MSC-20 RTC-CG 40 2 x M6x35 2x@12
MSC-25 RTC-CG 32 2 x M6x37 2x@12
MSC-25 RTC-CG 40 2 x M6x40 2x@12

1) ITEFHHERAMS = 6,0 Nm + 10%; M6 = 10 Nm + 10%

BhR : #E

00129817

00129818

MEEIRITRREENERN RO CERAER, $AERIEN MY E
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



52 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
» BFHSERE : RTC-CG/ZSC

e Bl 2) @, EAH
&R R
! i

841, PRIREILALIE
45T 1) W,
T-RERE TEEN; 0, e

1) ISO 4762:2004
2) ISO 2338:1997

BAMEE
m %/ 52 EasyHandling 2884,

Easy-2-Combine- i} Easy-2-Combine-2% 4 Easy-2-Combine-2 340 {4 HE el
[ka]

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,
RMC-HE-16, AMG-HE-25, | | GPC-E-16,ZSC-16 CK1-LI-14 0,17 R412004661
RTC-CG 16

GSU-25, MSC-25, RMC-
HE-32, RTC-CG 32, RTC- | GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662
HD 32, RTC-HD 40

g;u-za MSC-25, RTC-CG | 75505 CK1-LI-16 0.3 R412004663

BIREI : fRE

00129819

00129820

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Bosch Rexroth AG

| Pneumatics 53

Easy-2-Combine, LA H

» AF4E

i%%& : RTC-CG/ZSC

CK1-LI-14/-15
A-A

CK1-LI-16
A-A

IS

L1

Nii=E i

H1

L1

b O Osd
flo & Glows:
¢ o 0%

00120634_a

00123273

Easy-2-Combine-%2 340 % B1 H1 L1 L2
CK1-LI-14 64 10 72 9
CK1-LI-15 76 12 77,5 8
CK1-LI-16 80 12 80 8
HTTEE - A) ERER B) 1247 C) BEIRE D) BxEH
Easy-2-Combine-22 40 ¥ A B 1) C D
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6x09 2 x4 m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x@12;2xJ 12-9 2 x4 mbx12
CK1-LI-16 1Xx 4 x M5x45; 4 x M6x16; 2 x M6x14;4 x M6x25 6xQ012 2 X 4 m6x12
1) #FEHEHFEAMS = 3,5Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



54 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
» AFHEEE : RTC-HD/MSC

WHER TGN
1857 1) M, 5
T-BUiEIEE TEW; W,

00129825

1) ISO 4762:2004

BARMEE
m %/ 52 EasyHandling 28I 4.

Easy-2-Combine-Ztt Easy-2-Combine-Z2% 4 Easy-2-Combine-Z2 340 {4 B2 FrmitEn
[kg]

CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25,
GPC.ST-12 GPC.ST-20, | MSC-12 CK2-LI-02 0,02 R412004688

RTC-HD 16, RTC-HD 25
CKK/CKR-12-90, CKK/CKR-

15-110, CKP-16, CKP-25, | MSC-16 CK2-LI-06 0,02 R412008670
RTC-HD 16, RTC-HD 25

CKK/CKR-20-145, CKP-32, | MSC-20 CK2-LI-07 0,03 R412008671
RTC-HD 32, RTC-HD 40 MSC-25 CK2-LI-08 0,04 R412008672
BRRSE R

00129823

00129824

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4



FRER - REEEAH

Easy-2-Combine, LA H
» AFH&#/E : RTC-HD/MSC

HECERE : A) 38T B) BEE C) BKIEH

Easy-2-Combine-Z2 340 {4 A1) B (o}
CK2-LI-02 2 x M5x20 2xQJ9 2 x N6/ M5

CK2-LI-06| 2 x M5x26,5 2xQJ9 2 x N6/ M5

CK2-LI-07 2 x M6x32 2x@J12 2 x N8 /M6

CK2-LI-08 2 x M6x37 2xQJ12 2 x N8/ M6

1) IFEHEFAMA =3,5Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH

Bosch Rexroth AG | Pneumatics




56 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, EELRAH
» AF4HAR% : RTC-HD/GPC-E

WHER TGN
EEHER 5B, PRIRELALE
1847 1) M, FE5E

ooreseze T-BUiEIR R TEW; W,

1) ISO 4762:2004

BARMEE
m %~ m= EasyHandling ZEHITERH.

Easy-2-Combine-Ztt! Easy-2-Combine-&# ¥ Easy-2-Combine-Z2 340 {4 EE FramitEn
[kg]
GPC-ST-12, GPC-ST-20,
MSC-12, RMC-HE-186,
RMC-HE-25, RTC-HD 16, | GFC-E-12,25C-10 CK1-LI-13 0,1 R412004665
RTC-HD 25

GPC-ST-12, GPC-ST-20,
GSU-16, MSC-16, MSC-20,

RMC-HE-16, RMC-HE-25, | GPC-E-16,25C-16 CK1-LI-14 0,17 R412004661
RTC-CG 16

GSU-25, MSC-25, RMC-

HE-32, RTC-CG 32, RTC- | GPC-E-20, ZSC-20 CK1-LI-15 0,26 R412004662

HD 32, RTC-HD 40

BRZR : HE

00129821

00129822

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4




FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

57

Easy-2-Combine, LA H
» AFHE&’E : RTC-HD/GPC-E

CK1-LI-13 CK1-LI-14/-15
A'A \ | | | A-A ! )
=N = TS N
T T
L1
L1
le 3881l o
-+ T m
A o 9 @ oA
T Yo A
o D &
00123271_a
L2
00123272_a
Easy-2-Combine-%23£ 40 B H1 L1 L2
CK1-LI-13 49 8 63 0,5
CK1-LI-14 64 10 72 4
CK1-LI-15 76 12 77,5 1,5
HITEE : A) EREMR B) 1847 C) EEE D) BEEH E) HKIEE
Easy-2-Combine-%2 340 {§ A B 1) C D
CK1-LI-13 1x 4 x M3x16; 4 x M4x10; 4 x M4x30 2xQD7;2xD9| 2x4m6x12
CK1-LI-14 1x 4 x M4x20; 4 x M4x35; 2 x M5x10; 6xJ9| 2x4m6x12
2 x M5x12; 2 x M5x14
CK1-LI-15 1x 4 x M5x20; 4 x M5x40; 2 x M6x14; 4 x M6x16| 4x312;2x @D 12-9| 2 x4 m6x12
Easy-2-Combine-22 4014 E
CK1-LI-13 2x N6/ M4
CK1-LI-14 2 x N6 /M5
CK1-LI-15 2 x N8 /M6
1) FEHEFZAMI =2,2 Nm + 10%; M4 = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm * 10%

HEFIRIRNAMRIRE S N EE O ERRIAT{ER
SHEH-BF, ELPDF, #IEF 2011-12-20, ©

, M ERE Y
Bosch Rexroth AG, 1R &L




58 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHEHRE : CKP/CKP

4 | 3t ehER W
f & N TR $EF
' ' - \4\25 9247 W, e
' ® <& T-EUiEIE W, B
T ERAGEE . KB, BRIEE, 85T, B0
Ve
BAMEE

m %= 52 EasyHandling ZZ&HIE 4,

Easy-2-Combine-Zii} Easy-2-Combine-Z2 4 EE F=m i
[kal
CKP-16, CKP-25 CKP-16 0,2 R039120045
CKP-25 CKP-25 0,3 R039120046
CKP-25 0,3 R039120047
KP-32 ’
CKP-3 CKP-32 0,4 R039120048

#Y #EEEEEL (TESBHFETT)

00129101

#Y HBEEEIESHGL (EHETT)

00129076

00129083

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4

00129089




FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

59

Easy-2-Combine, LA H
» ATFHEGRE : CKP/CKP

=@ X 1) Y 2) A
R039120045| CKP-16| CKP-16 96| CKP-| CKP- 106
25 16
R039120046 | CKP-25| CKP-25 116
R039120047| CKP-32| CKP-25 135
R039120048| CKP-32| CKP-32 150
1) B
2) REH
m=Rg

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




60 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» ATFHEHRE : CKP/CKP

WHER
EHEAR
1247

ERRE AR

00130814

TR

et

M, e

AR, KEMH, RWKIEE, 154, WhER

BARMEE

m %= 52 EasyHandling ZZ&HIE 4,

Easy-2-Combine-E i Easy-2-Combine-&23 {4 B8 F=m i
[kg]
CKP-16, CKP-25 CKP-16 1,1 R039110126
CKP-25 CKP-25 1,5 R039110127
2.1 R039110128
CKP-32 CKP-25 2,8 R039110129
CKP-25 CKP-16 1,1 R039110132
CKP-32 CKP-25 2,1 R039110133
B Y HETEEEEHL (THESBHET)
D
= | Sllag !
PR
= ] [0
00130588
¥ Y HBEEEIEEBEL (EFETT)
D
== ilige=n1
0.
fel

00129082

HEFIRARNM SRS MEER O SEENER, FHRERIFLMYE

SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4

00129090




Bosch Rexroth AG | Pneumatics 61
ERBR - REEEAY
Easy-2-Combine, &3t 4H 4
» AFHERE : CKP/CKP
%z EEEESF L (THESBEHETT)
PN D
o ﬂj
’i E
Hf
10 §@9 [Gln
ESEinnil
F
L] L]
00129084 00130589
% Z HEEEIESIHHL (EFETT)
Z D
_n ﬂj
E
@@ oo
e
ESEinnil
X F
L] L]
00129088 00129078
PR X 1) Y 2) XY XY XY Xz Xz Xz xz| mlkg]
A B c D E F G H
R039110126 | CKP-16 | CKP-16 191 131 17,5 115 135 75 125 136 11
CKP-25 201 141
R039110127 | CKP-25 | CKP-25| 226,5 152 185 145 160 86 142 155 15
R039110128 | CKP-32 | CKP-25 248 176 21 145 - - - — 2,1
R039110129 | CKP-32 | CKP-32 286 193,5 21 175 201| 1085 155| 183,5 2,8
R039110132 | CKP-25 | CKP-16 - - - 115 135 81 125 138,5 1,1
R039110133 | CKP-32 | CKP-25 - - - 145 175 102,5 155 183,5 2,1

1) B
2) REH

=
m = ilE

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




62 Bosch Rexroth AG

FRER - REEEAH

Pneumatics

Easy-2-Combine, FEER A G
» AFH4E"_E : CKP/RCM

EEH W, FEEE
MRER TEN
AR $EMF
1247 W, JEsE
EERRE YRR SY )
XRER, JRIR, IRR, 4842, EEREH
00130810
BAMEE
m %7 MR EasyHandling RERIFH .
Easy-2-Combine- il Easy-2-Combine-223& {4 s el
[kal
RCM-12 R039120182
CKP-16 RCM-20 0,45 R039120183
RCM-25 R039120184
RCM-12 R039120185
CKP-25 RCM-20 0,5 R039120186
RCM-25 R039120187
RCM-12 R039120188
CKP-32 RCM-20 0,63 R039120189
RCM-25 R039120190
AR E = @
TR RCM S5 CKPIE ik
00129086
00129077
=i A B c D E
R039120182 68 35 66 141 11
R039120183 68 35 66 141 11
R039120184 68 35 66 141 11
R039120185 68 35 77 152 11
m = F&E

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI




FRER - REEEAH

Bosch Rexroth AG

| Pneumatics

63

Easy-2-Combine, LA H
» ATFH4E"_E : CKP/RCM

=@ A B c D E
R039120186 68 35 77 152 11
R039120187 68 35 77 152 11
R039120188 68 35 88 163 11
R039120189 68 35 88 163 11
R039120190 68 35 88 163 11

m=RE

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH




64 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine, FEER A G
» AFHARE : CKP/GSP

Bl o, e
MR EE R
R st
44T 0,
FEREE OB B S) -

ARXR, XEM4 HuRER, B2, MR

00129087

BAMEE

m %= M2 EasyHandling R HIZ &4,

Easy-2-Combine- i} Easy-2-Combine-R#{f B8 =i
[ka]
GSP-A-10, GSP-P-10, GSP-P-10,
GSP-A-16, GSP-P-16, GSP-R-16 R039120170
CKP-16 GSP-A-25, GSP-P-25, GSP-R-25 0.48 R039120171
GSP-A-32, GSP-R-32 R039120172
GSP-A-10, GSP-P-10, GSP-R-10,
GSP-A-16, GSP-P-16, GSP-R-16 R039120173
CKP-25 GSP-A-25, GSP-P-25, GSP-R-25 0,52 R039120174
GSP-A-32, GSP-R-32 R039120175
GSP-A-10, GSP-P-10, GSP-R-10,
kP GSP-A-16, GSP-P-16, GSP-R-16 R039120176
-32 GSP-A-25, GSP-P-25, GSP-P-25 0.67 R039120177
GSP-A-32, GSP-R-32 R039120178
CKP-16 Schunk 50-1 AS, Schunk 64-1 AS, Schunk 0,48 R039120179
80-1 AS
CKP-25 Schunk 50-1 AS, Schunk 64-1 AS, Schunk 0,52 R039120180
80-1 AS
CKP-32 Schunk 50-1 AS, Schunk 64-1 AS, Schunk 0,67 R039120181
80-1 AS
AL & 7 5
S#h% GSP5CKP @k

00129074

00129080

HEFIRRR MRS MEE R PO S ERERMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-12-20, © Bosch Rexroth AG, {REEXALFI



Bosch Rexroth AG | Pneumatics 65
FmBER - BiEEEEY

Easy-2-Combine, LA H
» AFHARE : CKP/GSP

ZIE

N7
i

yany

N7
|

%@J_LI

——0« {0

il 1

[]

| wl

c i

D
00129075
=@ A B c D E
R039120170 88 44 66 141 11
R039120171 88 44 66 141 11
R039120172 88 44 66 141 11
R039120173 88 44 77 152 11
R039120174 88 44 77 152 11
R039120175 88 44 77 152 11
R039120176 88 44 88 163 11
R039120177 88 44 88 163 11
R039120178 88 44 88 163 11
R039120179 88 44 66 141 11
R039120180 88 44 77 152 11
R039120181 88 44 88 163 11
m=JR&E

HEFIRARNM RS MEER O SEEAER, FRERERMYE

SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



66 Bosch Rexroth AG | Pneumatics

FRER - REEEAH

Easy-2-Combine, EELRAH
» AFHBERE : CKK/CKR/CKP/MSC

WHER

1857 1)

T-BUiEIEE

00120651

1) ISO 4762:2004

TGN
M, 5

TEW; W,

BAMEE

m %/ 52 EasyHandling 28I 4.

Easy-2-Combine-Ztt Easy-2-Combine-Z23 {4 Easy-2-Combine-Z2 340 {4 B2 FrmitEn

[kg]
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25, MSC-08 CK2-LI-01 0,01 R412004687
GPC-ST-12
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25,
GPC.ST-12, GPC-ST-20, | MSC-12 CK2-LI-02 0,02 R412004688
RTC-HD 16, RTC-HD 25
CKK/CKR-12-90, CKK/CKR-
15-110, CKP-16, CKP-25, MSC-16 CK2-LI-06 0,02 R412008670
RTC-HD 16, RTC-HD 25
CKK/CKR-20-145, CKP-32, | MSC-20 CK2-LI-07 0,03 R412008671
RTC-HD 32, RTC-HD 40 MSC-25 CK2-LI-08 0,04 R412008672

BlRRE : M

00120607

#ESERE : A) $8$T B) BEE C) RRIED

HAEFIRMNM RS NERN DO ERAMER, FEERIE N E
SHER-BEF, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, 4R E B4

00120608




Bosch Rexroth AG
EmBR - BEEEAY

| Pneumatics

67

Easy-2-Combine, LA H
» AF4HSEI’RE : CKK/ICKR/CKP/MSC

Easy-2-Combine-%2 348 (% A1) B C
CK2-LI-01 2 x M4x18 2xQ39-7 2xN6/M4

CK2-LI-02 2 x M5x20 2x@09 2xN6/M5

CK2-LI-06| 2 x M5x26,5 2x@09 2xN6/M5

CK2-LI-07 2 x M6x32 2x@12 2 x N8 /M6

CK2-LI-08 2 x M6x37 2x@d12 2 x N8 /M6

1) IFEHEHEAMA = 3,5 Nm + 10%; M5 = 6,0 Nm + 10%; M6 = 10 Nm + 10%

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IETF 2011-12-20, © Bosch Rexroth AG, %88 & B4FH



68 Bosch Rexroth AG | Pneumatics
F@mBER - RiEEEEY

Easy-2-Combine
B 42

Xtepih

Fig. 1 Fig. 2

| EC
~ S ! I

e.c Znz iy |
(= el

00112657

=aRHB o A B c D E L] e L
ké k6 +0,1 -0,2 +0,2 [1]

R412000669 5 5 - 3,4 3 - AW 6| Fig. 1
R412000668 7 7 - 55 3 - W 6| Fig. 1
R412000670 9 9 - 6,6 4 - W 6| Fig. 1
R412000671 12 12 - 9,0 4 - W 6| Fig. 1
R402003731 16 16 - 11 6 - W 6| Fig. 1
R412004030 5-7 7 5 3,4 3 1,5 TN 6| Fig.2
R412004032 5-9 9 5 3,4 3,5 1,5 N3] 6| Fig.2
R412004033 7-9 9 7 55 3,5 1,5 W 6| Fig.2
R412004034 9-12 12 9 6,6 4,0 2 T 6| Fig.2
R402003736 | 12-16 16 12 9 5 2 W 6| Fig.2

* Kernprodukte - vorzugsweise flir Neukonstruktion, Bevorratung im Zentrallager Laatzen, weltweiter Service
® Ergénzungsprodukte - bestehendes Standardprogramm, weltweiter Service
Pneumatik-Katalog, Online-PDF, Stand 2011-12-20, © Bosch Rexroth AG



Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
20-12-2011



	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	Easy-2-Combine, &#36830;&#25509;&#23433;&#35013;&#32452;&#20214;
	&#23545;&#20013;&#29615;

